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>>> s = ‘apple’
>>> t = [ist(s)
>>> t
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>>> s = 'every morning you greet to me'
>>> t = s.split()

>>> t

['every', ‘morning’, ‘'you', ‘greet’, 'to’, ‘'me’]

K ArES HHol TR 2 2[2EE EE, split

>>> s = 'apple-tree-beans’
>>> delimiter = '-'
>>> s.split(delimiter)

['apple’, ‘tree’, ‘beans']
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>>> t = ['every', ‘'morning’, 'you', ‘greet’, 'to’, ‘'me’]
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>>> delimiter = "'
>>> delimiterjoin(t)
‘every morning you greet to me’

>>> delimiter = '+’
>>> delimiterjoin(t)
‘'every+morning+you+greet+to+me'
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ﬁsg - input("E0}sH= Yoj 2 A

msgList = msg.split()
print("List: ", msgList)

msglList. remove(Remove ~Word)
print("A7 = List: ", msgList)

msgList.append(Add_Word)
print("==7} 2 List: ", msglList)

mw n

delimiter =
Str = delimiterjoin(msgList)

print("join & =XFE: ", Str)

\_

Remove_Word = input("MAHg O E RSN R ")

Add_Word = input("F7t2 St E LEHSIME : ")
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===== RESTART: E. f1 Works/2017Work/KMooCZre| /E
Code/turtle_test. =====

Z0fst= ?:‘::.'01%%*% HEstME ¢ Love 15 real
ist: ['Lowve', 'is', 'real']

HAHY HHE YEstH 2 ¢ real

HMAH Z= List: ['Love', 'is']

Fotge B E 2=8etMda ¢ feeling

Z=JF = List: ['Lowve', 'is', 'feeling']

join & 2AFE: Love is feeling



Shallow copy and Deep Copy

* Shallow copy
>>>c1=[2,4,6,8,10]
>>> c2=cl
o ALK =20 ZASI= &
» ST HEEE 7L,
* Deep copy

>>> c2=deepcopy(cl)
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/>>> c1=["red", " ! \
= , "green"] -
>>> c2=cl * oﬂl-_JF Id(ﬁ#té“
>>> ¢ o Etol= HHZ~0
['red’, 'green’] L OF 314
>>> 2 ZIS—}'\—% OEI-E:|2"—SE|-

['red’, 'green']
>>> print(id(c1), id(c2))
51580400 51580400
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Shallow copy 0| |

ﬂ> > c1=["red", "green"]

>>> c2=["blue", "orange"]
>>> 1

['red’, 'green']

>>> C2

['blue’, 'orange']

>>> print(id(c1), id(c2))
51580400 52929960
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# deepcopy \ ¢ 27H_°_| E-I_E H:l

2
- BB 21 0jof 81 A2 0f
>>> from copy import Al_%-él-_l_l:l_

>>> c1=["red","green"]
>>> c2=deepcopy(c1)
>>> 1

['red’, 'green']

>>> c2

['red’, 'green’]

>>> print(id(c1), id(c2))
54278544 54285336
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print("you want to stop, input 'zzz' I'")

Kprint("list f " fruit, "count of f: ", len(fruit))

while True:
f = input("write your favorite fruit : ")
if f == 'zzz":
e
break ===== RESTART: E:/1_Works/2017Work/KMooCZE2| /Exercise Code/turt|
else : e_teet.?vt::?: SR
. You wan o stop, inpu zzz' Il
frwt.append(f) write vour favorite fruit @ apple
write vour favorite fruit o lemon
write wour favorite fruit @ lime
write vour favorite fruit @ banana
write wour favorite fruit @ tomato
write wour favorite fruit @ melon
write vour favorite fruit @ zzz
list £ ['apple', 'lemon', 'lime', 'banana', 'tomato', 'melon']
count of f: 6
e |
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ﬁtm = ['apple’, 'banana’, 'quiz’, 'hi', 'bye'] \
ListO1_modified = ListO1

List02 = ['Korea', 'hi', 'LOL', 'Python’, 'apple']

for i in range(len(List01)):
if ListO1[i] in List02:
List02.remove(ListO1[i])

List03 = ListO1 + List02
print("List01: ", List01)
print("List02: ", List02)
print("e &l = ", List03)

List03.sort() ::?::tRESTﬁHT: E: /1 _Warks/2017Work/KMooCZr 2| /Exercise Codesturt|
] ° . . e_ as p}-‘ ——===
print"g & . ", List03) [ Listo1: ['apple', 'banana', 'quiz', 'hi', 'bye']

List02: ['Korea', 'LOL', 'Pvthon']
ehrl = ['apple', 'banana', 'quiz', 'hi', 'bye', 'Korea', 'LOL
', 'Pvthon']

K =4 = ['Korea', 'LOL', 'Python', 'apple', 'banana', 'bye', '
hi', 'quiz']




* deepcopy H&0}7|
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numList 0| == 57 & X 2otCt
numshallowO| numList = AFSHCH

numdeepd| numList=S deepcopy L}
numshallow, numdeep 0| 2tZ+ ok 7| 2| OO &l

ShCt

numList, numshallow, numdeep=

= o)

H, from copy import * M Of otC}
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/ from copy import * \

numList = [1,3,5,7,9]
numshallow = numlList
numdeep = deepcopy(numlList)

print("numList = ", numList)
print("numshallow = ", numshallow)
print("numdeep = ", numdeep)

numshallow.append(99)
numdeep.append(111)

print("after appending”, "="*20)
print("numList = ", numList)
print("numshallow = ", numshallow)

\\jijnuﬂuundeep = ", numdeep)

RESTART: E /1 Works/2017Waork /KMc
g_test. py =====

numlList [1, 3
numshal low = [1,
numdesp [1, 3
after appending
numList = [1,

numshal low = [

numdeep [1,
el e |
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